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PSYCHOLOGY
PAPER - II
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: This paper contains FIFTY (50) multiple-choice/assertion and reasoning matching

questions, each question carrying TWO (2) marks. Attempt All the questions.
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AR WAL U qral B, RAs uadA & () ae B

General arousal and activity in the
body is controlled by :

(A} the hypothalamus

(B) the reticular activating system
(C) spinal cord

(D) mid brain

...................... transmits messages
away from the cell body to other
neurons.

(A) Dendrites

(B) Axon

(C) Myelin sheath

(D) Cell body

..................... theories stress private,
subjective, experience and personal
growth.

(A) Trait

(B) Humanistic

(C) Behaviouristic

(D) Psychodynamic
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According to Rotter’s theory,

someone with a strong internal

locus of control will tend to :

(A) work hard to control his/her
environment

(B) display a higher level of moral
development

(C) develop health problems in
reaction to stress

(D) be move of a loner

According to Freud the energy from

life instincts that drives personality

is called the :

(A) ego

(B) libido

(C) life force

(D) eros

Which of the following 1s/are the

limitations of percentile ranks ?

(1) unequal intervals between two
percentile scores

(2) they are difficult to calculate

(3) they are easy to communicate

(A) (1) is correct

(B) (2) and (3) are correct

(C) (1) and (3) are correct

(D) (3) is correct

Intrinsic motivation occurs when :

(A) obligations or approval are
factors

(B) there is no obvious external
reward for one’s behaviour

(C) there are obvious external
factors controlling behaviour

(D) extrinsic motivation is also
high
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10,

11,

The arousal theory of motivation is

most likely to be applied to which

of the behaviour ?

(A) Taking deep breath when one
1S Very nervous

(B) Drinking a glass of cold water
on a hot day

(C) Saving for months to buy a
new suit

(D) Practicing piano for hours
together

The principal measure of need for

achievement is :

(A) An Achievement Inventory

(B) Ink Blot Test

(C) Thematic Apperception Test

(D) Need for Achievement Test

The...ocooveiveiinnns, describe the

relationship between arousal level,

task difficulty and efficiency of

performance.

(A) Arousal theory

(B) Drive reduction theory

{C) Yerkes-Dodson Law

(D) Inverted U function

(A) are the most extreme form of
various emotions

(B) are subtle emotional under
current

(C) reflect have physiological

changes

(D) reflect only positive emotions
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12,

13.

14.

15.

16.

Which one 1is the
considering theorist and his/her

odd-pair,

contribution in psychology 7

(A) Freud—psychoanalysis

(B) Murray—need press

(C) Jung—striving for superiority
(D) Horney—neurotic needs
Information processing views on
memory approves which of the
following three stage processing ?
{A) Organizing, processing, storage
(B) Encoding, storage, retrieval
(C) Encoding, processing, retrieval
(D) Storage, processing, retrieval
The first step in placing information
into memory storage is :

(A) Mnemonic memory

(B) Short term memory

(C) Sensory memory

(I} Rehearsal

The Ebbinghaus curve of forgetting
shows that forgetting is most
rapid :

(A) Immediately after learning

" (B) One hour after learning

(C) After one week

(D) A few months after learning
The storage capacity of LTM is best
described as :

(A) single item

(B) about 70 items

(C) about 70 volumns

(D) limitless
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17.

18.

19.

20.

You have a snake phobia. You once

heard a loud noise while looking at

snake. For you snake is :

(A) CS

(B) CR

(Cy UC

(D) UR

Extinction takes place :

(A) When CS is presented more
often than US

(B) When US is presented more

often than CS

(C) When CS alone is presented
several times

(D) When US s

presented and sometime CS

sometime

Reminigeence particularly oceurs in
case of :

(A) Perfect learning

(B) Zero learning

(C) Partial learning

(D) Latent learning

Which of the following learning is
most independent of cortex ?

(A) Conditioning

(B) Problem solving

(C) Serial learning

(D) Trial and Error
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21.

22.

23.

The concept of learned, helplessness
was given by :

(A) Pavlov

(B Thorndike

(C) Seligman

(D) Skinner

(@) Reliability of an intelligence
test is .79, and its validity is
81.

() Reliability of an intelligence
test is .79, and its validity is
12,

(A) Only (a) 1s correct
(B) Only (b) is correct
(C) Both are correct

(D) Both are incorrect

In psychological experiment, the -

experimenter has to keep control on
several variables, but he can’t

control one variable known as :
(A) extraneous variable

(B) qualitative variable

(C) discrete variable

(D) constant variable
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24. The Five Factor model of personality

25.

26.

includes :

(A) Social interaction

(B) Conscientiousness

(C) Sense of humor

(D) Psychoticism |

Of the following four arrangements

of scales, which one is written in

correct order ?

(A) nominal, ordinal, interval,
ratio

(B) interval, ordinal, pominal, ratio

(C) ratio, nominal, iqtewal, ordinal

(D)

ordinal, nominal, interval,

ratio

Which of the following is not a

continuous variable ?

(A) Age

(B) Time

(C) Number of family members

D)

Pressure
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217.

28.

29.

Psy.-II

Which of the following methods in
a research study allow control to the

observer ?
(1)
2)
(3)
@)
(A)
(B)
(C)
(D)

disguised observation
participant observation
structured observation
field experiment

(1) and (2) only

(2) and (3) only

(2) and (4) only

(8) and (4) only

When a significant and high
correlation is obtained between a
new test and a similar earlier test,

then it is an evidence of :
(A) test-retest reliability
(B) con-current validity
(C) construct validity

(D) criterion validity

A scientific explanation that
remains tentative until it has been

adequately tested is called :
(A)
(B)
©)
(D)

theory
law
hypothesis

experiment

10
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39. Of the following which one is an

40.

41.

appropriate relationship ?
(1) Smell-—olfaction
(2)

(3)

Pressure—cutaneous
Motion—epithelium

(4)
(A)

Touch—neuroglia
(3} and (4)

(B) (1) and (2)
(C) (1) and (3)
(D) (2) and (4)

Robert Sternberg said, that

intelligence consists of three major
aspects, namely Componential,

.......................... and Contextual.
(A} Experiential

(B) Exponential

(C) Demential

(D) Potential

Which of the following is one of

Gardner’s type of intelligence ?
(A) Executive skills

(B) Ethics

(C) Music

(D) Creativity
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42.

43.

44.

45.

Theory of intelligence proposed by
Thurstone, has.................... primary

mental abilities.
(A) 5

(B) 6

) 7
™ 8

Fluid intelligence and crystallized

intelligence were identified by :
(A) J.M. Cattell

(B) R.B. Cattell

(C) David Wechsler

(D) H. Gardner

Concept of mental age was

introduced by :
(A} Stern

(B) Binet

(C) Stanford
(D) Wechsler
Concept of DIQ was introduced
by :

(A) Wechsler
(B) Binet

(C) Stern

(D) Cattell R.B.
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30,

31.

32.

33.

When a novel solution to a problem

is .required, people
With..oveeeien are better than
others.

(A) linear type of thinking

logical and rigid type of
thinking

(B)

(C)
(D)

A concept referring to an object

divergent thinking

convergent thinking

having at least one feature is

- VU concept.

(A) relational

(B) conjunctive

(C) disjunctive |

(D) categorical

Basic speech sounds are called :

(A) morphemes

- (B) syllables

(C) phonemes
(D) syntax

Heuristics are problems solving
strategies which :

(A) use trial and error approach

(B) use random search strategies

(C) guarantee success in solving a
problem

(D) reduce the number of
alternatives
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34.

35.

36.

37.

38.

The correlation between intelligence

and creativity is :

(A) Very high

(B) Very low

(Cy Zero

(D) More positive in the higher
range of 1Q

Figulre and ground relationship was
first established by :

(A) Gestalt psychologists
(B) Behaviourists
(C) Structuralists
(D) Functionalists

In a small central area of the retina

there are no rods at all, it is
called :

(A) Fovea

(B} Pupil

(C) Blindspot
(D) Optic nerve

In which category Muller-Lyer
illusion belongs ?

(A) illusion of extent
(B) illusion of direction
(C} illusion of shape

(D) illusion of continuity

From the following which principle
is not included in perceptual
organization ?

(A} Law of similarity

(B) Law of organization

(C) Law of contiguity

(D) Law of closure
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46.

47.

48.

49.

50.

Number of aptitudes measured by
Differential Aptitude Test are :

(A) Seven
(B) Eight
(C) Nine
(D) Ten

In a 2x2x2x2 factorial design the
number of second order interactions
are :

(A) Three
(B) Four
(C) Five
(D) Six

Calligraphy and phrenology now a
days are called as :

(A) Social Sciences
(B) Physical Sciences
(C) Pseudo Science
(D) Medical Science

Introspective report was totally
discarded by :

(A) Behaviourist
(B) Psychoanalyst
(C) Gustalist

(D) Humanitarians

Functionalism was established by :
(A) Wundt

(B) William James

(C) William McDougal

(D) Anna Freud
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